Limly
Ly
oy

AN

RTTJTERMSENE (D FRATH
e i R E SRR

BRI PES 24-04- 09
H P84 =
TR A R R RO LR RS
o 1106030-QB02
o V506
fit 1% ¥ & i
B fe it feor
]

g " /!/ Ko B 22 v 111

| ot 4Fol H.8 H
Eid EERSLE g g
S84 | L
} WY ﬁ%ﬁ »gEi

28 [ 3 oo O VI




g T T BArE
T i 1% 1% éﬂ 1% PEm, [ TERED
‘?}p;ri M [@ %wi 2024/3/28
4 V506 {43 1106010-QB02 4 A denm) o 2024/3/28
wiwnm|  2024/3/28 [
off%fF WEBHF | gp 28
e LoEA pio |t 1 EA
a5 At 0
BRAE : BNKRE sRIKE olEIRE o/SEINE oBiEitid wikilie
2 N=
I g % oA O& # -
[:] e | mEE n=1 e o W
9 4 EROHE Ot 38
# . X% |olEEn= o #EC
= aA- A~k =
AE R Dmﬁ h= D/r (=] m’
# \f Bff 5 1 & i - i i i
>’E ¢ i'; # PM w | |12 e ¥ %
NO [ ) ¥ % WA B By AU E B IA| TE
1
2
3
" LB ERERE, FLEBNENTA, aEEMRA, :
E 2. EHME—-MAESABHRARYE, GRIEEHF=1H: 5
3B/ MRS E ¥ g R /A
EIET= s T W i '
fir|m B BRAE = i ait
PRRERARTE TR |, JEiHeE
. EEE. SEEFEEanE| a18 Bt
1| som ENTCEY  HE, ERERTE
Z , BRIAAIFEIRIG | B,
NEEERELAENONEE
BEEEMI BET
152.02 P
2 0152+1 &t
N 12218 &
3 0122405 i
] 0.524 ok
4 [] o8 B
] 3,08 &
5 3+0.2 L
o 10.98 2
6 ®10.9840,15 at&
— 5N
7.90 =1
7 | B% ©7.89+0.06 aie
%R
Kb 494 e
m ; .
8 I'E\) P49 O.J_M il
T 214 &
9 2154017 : afi
114
10 21124025 : ati
1 . 325.44 o
12 350+10 348708 [l
13 21.12+0.25 2k atd




212 . o e
14 2154017 atf j
- f
9.46 !
15 ©9.4940.06 ath |
B |
| R& 3
1296 p” n
16 oo $12,94+0.21 _
L1 (m
m) 33.00 oty !
17 33:05
50.46 % ]
18 50.5:0.6 ata
371.2 &z
19 9.7+2mm 370£20 i
351.9 a4z
20 30.7+2mm 350.8+2Q =L
317.1 a2
21 64.2+2mm 31620 a1g
2823 =i
2 96.7+2mm 281.2+2Q &
248.0 N
23 128.3+2mm 246.7:20 S
—
% 2135 2
24| g 159.2+2mm 2122420 .
4
178.6 a1
25 189.7+2mm 177.4150 |
143.7 a8
2 220.8:2mm 142.6£1.50 =
108.8 s
27 252+2mm 107.8+1.5Q FLiH :
—
74.0 848
28 284+2mm 73150 -
41.0 aRr
29 313.9+2mm 40:15Q =
R | FE6SKPaEEFIT , 305, B | &g At
30| 85 | WiE=H. DEmEEEZS, 8 =
Bt | SEREENNENESIETE,
u 223.6 aig
BE (V)13.5:0.1, [FH
- (KPa)500£10 , & ( L/H)>
- 176 , Bif; (A)<14 13.30 ais
o]
M E: 182.4
33| s | BBIE (V)12£0.1, [E(KP2)500 o
1 kg | =10, & (L/H)2145, B
3 (A)<13 12,07 &t
RBJE (V)80.1, [EH(KP2)300- | 1342 At
35 10, %8 (/H) =
240
1 EEERREPES
2, EEERTEERSARRS , MUIDRTACRB , W ERENETE ;

L}.§$%EEKE,@$%mEmﬁEW.E§?%E.




